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Write the missing numbers in the table.

The first row is done for you.

First - Sum of first || Product of first
bl ol and second || and second
numbers numbers
3 6 9 18
\ 5 -3
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Gives both correct values, ie
‘maximum of 40 and minimum of ~20

Completes both rows correctly, in either order

“
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1. (a) Look at this i

One of the st;

information.

Two numbers multiply to make zero.

atements below is true

Tick (v/) the true statement.

\

Both numbers must be zero.

At least one number must be zero.

Exactly one number must be zero.

Neither number can be zero.

(b) Now look at this information.

Two numbers add to make zero.

If one number is zero, what is the other number?

\

If neither number is zero, give an example of what

the numbers

could be

and
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Use your calculator to work out the answers.

\

(48 + 57) x (61 - 19)

48 + 57
61 - 19
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3

(a) Look at this information

Two numbers multiply to make zero.

One of the statements below is true.

Tick (v) the tr

N\

rue statement.

Both numbers must be zero.

At least one number must be zero.

Exactly one number must be zero,

Neither number can be zero

(b) Now look at this information

Two numbers add to make zero

If one number is zero, what is the other number?

\

If neither number is zero, give an example of what

the numbers

could be.

and
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Kate buys 24 cans of lemonade.

She buys the cans in packs of 4
Each pack costs £1.20

Steve buys 24 cans of lemonade.

He buys the cans in packs of 6
Each pack costs £1.60

Kate pays more for her 24 cans than Steve pays for his 24 cans.
How much more?

\
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Write two numbers that add to 10

One of the numbers must be positive.
The other number must be negative.

N
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3. There are 25 pupils in a class.
‘The table shows information about their test results in maths and English.

(@) How many pupils had the same level in both maths and English?

\_

(b) How many pupils had a higher level in maths than in English?

\—.
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Kim works in a shop.

The shaded squares on the diagram below show
the hours she worked in one week.

Monday

Tuesday

Wednesday

Thursday

Friday

Saturday

9 10 11 12 1 2 3 4 5 6 7 8

The table shows her pay for each hour worked.

Pay for each hour worked
Monday to Friday, 9am to 5pm £6.35
Monday to Friday, after 5pm £7.50
Saturday £7.50
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\

How much was Kim's pay for this week?
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There are 25 pupils in a class.
‘The table shows information about their test resuits in maths and English.

(@) How many pupis had the same levelin both maths and English?

\—

(b) How many pupils had a higher level in maths than in English?

\_
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1. (a) Joinallthe pairs of numbers that add together to equal 1

The tirst one is done for you.

i

(b) Now join all the pairs of numbers that multiply to equal 1
The first one is done for you.
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In these number grids, two numbers are added to give the number below.
Example:

13|12

IE

18+12=25

Write numbers in the number grids below to make them correct.

Nz |

12





image20.jpg
Match each instruction on the left with an instruction on the right that has

the same effect.

“The first one is done for you.

Add 0

Subtract 0

Add

1
Subtract 5

Add -2

Subtract -2
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Gary took part in a quiz show and won a million pounds.

He spent £20000 on a holiday.
Then he spent half of the money left on a house.

How much did Gary’s house cost?
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2. (@

(0)

Sandra is thinking of two numbers.

Her two numbers have a negative sum, but a positive product.

Give an example of what her numbers could be.

\

and

Mark is also thinking of two numbers.

His two numbers have a positive sum, but a negative product

Give an example of what his numbers could be.

\

and
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1.

Match each instruction on the left with an instruction on the right that has
the same effect.

The first one is done for you.

EH{
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Gary took part in a quiz show and won a million pounds.

He spent £20000 on a holiday.
Then he spent half of the money left on a house.

How much did Gary’s house cost?
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15. (a)

®)

Sandra is thinking of two numbers.
Her two numbers have a negative sum, but a positive product.

Give an example of what her numbers could be.

\

Markis also thinking of two numbers.
His two numbers have a positive sum, but a negative product.

Give an example of what his numbers could be.

\
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(@) Work out the answer.

\ 2+ (16

+ 2) + 6 =

(b) Put brackets in the calculation below to make it correct.
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In 2005, about 60.2 million people lived in the UK.
Look at the information about these people.

= 50.4 million lived in England.
® 5.1 million lived in Scotland.
= 3 million lived in Wales.

= The rest lived in Northern Ireland.

(a) I 2005, about how many people lived in Northern Ireland?

million

(o) In 2005, about what percentage of people in the UK lived in Wales?

Tick (v) the correct value.

\ ] 1% | 5% 20%

63%
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\

145 people pay.
39 of them are under 16

How much ticket money is paid altogether?
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Jack has forgotten his PIN.
He can remember that it is a four-digit number starting with 9 and ending with 3

9[?]?]8

He also knows that the first two digits add up to the same as the last two digits.

Write down all the numbers that his PIN could be.
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1.

Write the missing numbers in the boxes.

\ 0.06 +

\ 0.6 + 0.06 +
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\

A swimming pool has this price list.

Swimming Pool Price List

Annual Membership £230.00 £180.00
Monthly Membership £26.50 £15.00
Casual Swim £3.50 £1.65
‘Add-on Membership £7.00 for each child
Family Swim £7.26

Annual Membership: Unlimited swimming for a year.

Monthly Membership: Unlimited swimming for one month.

Add-on Membership: Add up to 3 children to an adult Monthly Membership.
Family Swim: 2 adults and 2 children. Pay on entry.

Afather and his two children want to swim twice a week for a year.
What is the minimum cost per month for them to do this?

£ per month
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Street lights are going to be put on a new stretch of motorway.
Two types of light can be used.

The motorway is Sk long.
The distance from one light to the next must be no more than z% times the height
of the light.

Which type of light is cheaper for this stretch of motorway and how much will these
lights cost altogether?
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A car park shows this sign.

10p

Complete the table to show all the different ways of paying exactly 70p.

70p

Pay using any of these coins:

20p

No change given

50p

Number of
10p coins

Number of
20p coins

Number of
50p coins

7

0

0
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J ()

(a) Arrange these six cards to make the calculations below.

The first one is done for you.

939 = 4123 + 5|1
\ 164 = +
750 = +

(b) Now arrange the six cards to make a difference of 115

\ RS,

15 = -
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Here are six number cards.

Lee

(a) Arrange these six cards to make the calculations below.

The first one is done for you.

939 = 4123 + 51

164 = +

750 = +

(b) Now arrange the six cards to make a difference of 115

\ JEU

18 = -
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1. Write the missing numbers in the table.

The first row is done for you.

3 6 9 18
\ 5 -3
-8 -5
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Shoe sizes in Britain and Germany are different.

The rule below shows how to change a British shoe size to
a German shoe size.

Multiply the British shoe size by 1.25,
then add 32,
then round the answer to the nearest whole number.

Tom's British shoe size is 7, Karls British shoo size is 73
They say:

“The rule shows that we have the same German shoe size’

Are they correct? Tick () Yes or No.

Yes No

Show working to explain your answer.
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n
There are 20 questions in a quiz.

A correct answer scores 2 points. An incorrect answer loses 1 point.

A question not answered scores 0 points. A negative total is possible.

(a) What are the maximum and minimum points you could get on the quiz?

maximum minimum i
(b) A pupil answers 10 of the 20 questions.
8 are correct.
How many points does he score?

(¢) Complete the table to show 3 different ways to score 24 points.

12 0 8

2t





